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QUESTION: 92
Which capability will make it possible to migrate an enterprise application to a private
cloudenvironment?

A. elasticity of storage for the application

B. hands-free maintenance for the application

C. performance benchmark for the application

D. Software as a Service enablement of the application

Answer: D

QUESTION: 93
A company is transitioning many of their applications to a public cloud. Which statement is true
concerning their application data and the public cloud?

A. They can move application data to the public cloud without further analysis.

B. They cannot move application datato the public cloud because the files require too much
space.

C. They must modify all their applications because data access mechanisms in the public cloud
are different.

D. They should carefully analyze legal and regulatory concerns for application databefore
moving data to the public cloud.

Answer: D

QUESTION: 94
Which two components are part of the Business Support Services of the IBM Common Cloud
Management Platform Reference Architecture?

A. Governance

B. Entitlements

C. User Interface

D. Accounting and Billing
E. Analytics and Reporting

Answer: B, D
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QUESTION: 95

A customer wants to implement a private cloud solution and they are anticipating changes in
their current virtualization operational model. Which virtualization configuration characteristic
is affected by the implementation of cloud infrastructure?

A. higher latency

B. lower server utilization

C. higher demand/transient use

D. easier dependency/user management

Answer: C

QUESTION: 96
Which application profile is required for a successful cloud operational model?

A. Decoupling

B. XML and C++

C. UDP Connectivity
D. Scalable Computing

Answer: A

QUESTION: 97
Which IBM solution establishes the connectivity to on-premise applications and databases that
reside behind the firewall during the integration of a cloud solution?

A. IBM Tivoli Secure Connector

B. IBM Cast Iron Communicator
C. IBM WebSphereCommunicator
D. IBM Cast Iron Secure Connector

Answer: D

QUESTION: 98
Which two characteristics describe the cloud computing IT delivery model? (Choose two.)

A.HTML
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B. Secure

C. Shared

D. Portal-based
E. Service-based

Answer: C, E
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